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The process by which a Biological man becomes a Humane
(Social man)

1. Physical Development

2. Physiological Development

3. Knowledge Development

4. Social Development
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The word ‘Persona’ belongs to
1 Greek
2 Latin
3. French
4

German
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The pair of Chromosome that determines the sex of the baby
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The defense mechanism in which people over achieve in one
area to compensate for failure in another

1. Displacement
2. Regression

3. Identification
4. Compensation
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Manju, who is studying class 10, promises to her Classmate
Meena, that, if you help me in English, I will help you in
Mathematics.

According to the Kohlberg’s the above statement related to

1. Self interest orientation

2. Obedience and punishment orientation
3. Social contract orientation

4. Universal Ethical Principles orientation
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‘National committee for Mental Health’ was formed in
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The founder of “Anthropometric Laboratory”
1. Rousseau

2. Francis Galton

3. John Dewey

4. Sigmund Freud
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Drawing specific conclusion from general information

1. Inductive Reasoning
2. Deductive Reasoning
3. Convergent thinking

4. Divergent thinking
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The innate ability of the child is

1. Aptitude
2. Attitude
3. Interest
4. Maturity
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‘Reasoning is the term applied to highly purposeful, controlled
and selective thinking’ is defined by

1. Decartes
2 Gates

3. Bruner

4 Pinal
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One of the following is not a factor of affecting on thinking
1.
2.

3.
4.
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Percepts
Images
Concepts

Direction
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“Retention Curves” are designed by

1.
2.
3.
4.

Ebbinghaus
Galton

William James
Thorndike
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The approach to study about childhood development of a kid
from 3 years to 10 years age

1. Longitudinal approach
2. Cross sectional method
3. Cross cultural approach
4. Ranking method
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The process by which a boy looks at a goat and calls it a dog

1. Accomodation
2. Assimilation
3. Organisation

4. Complex thinking
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According to Bandura the following is not related to the
process of Social Learning

1.
2.
3.
4.

Attention
Retention
Reinforcement

Motivation
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The following scientist is not related to Gestaltism

1.
2.
3.
4.

Max Wertheimer
Kohler

Lewin

W.C. Bagley
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The Author of the book “Man’s search for Meaning”

1.
2.
3.
4.

Mc lver

Mc Clelland
Victor Frankil
Abraham Maslow

“Man’s search for Meaning” (X0& &S00S
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Programmed learning is based on this theory

1.
2.
3.
4.

Classical Conditioning
Operant
Trial - Error

Intentional
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The memory that retained for 20 — 30 seconds

1. Long term memory
2. Short term memory
3. Active memory

4. Rote memory
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A person who knows Telugu language can learn Kannada
easily. Transfer of learning here is

1. Positive Transfer of learning
2. Negative Transfer of learning
3. Zero Transfer of learning

4. Bi-Lateral Transfer of learning
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The theory of Thorndike is

l.

Trial and error theory

2. Classical conditioning theory
3. Operant conditioning theory
4. Insight Learning theory
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The main duty of teacher

1.
2.
3.
4.

Physical development of children
Mental development of children
Holistic development of children

Moral development of children
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A non trait of active classroom

1.
2.
3.
4,

Children doing activities and experiments
Children questioning
Children discussing with each other

Children are in passive listening
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Author of the book ‘How Children Fail’

1. Robinson

2. Victor Frankil

3. John Dewey

4. John Holt
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To visit a Bank to prepare a report on functions of
a bank comes under

1. Problem solving method

2. Project method

3. Lecture Method

4. Computer based learning
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In which stage on the learning curve it is felt that
learning has stagnated

l. Stage of fluctuation

2. Plateau Stage

3. Initial Stage

4. Secondary Stage

BIGOS S|S0 D S$¥S” wegOS0 KODOBEO T8

1. woéo?sc‘s?é
RiorAnat ]
Esilelelalnt ]

L

@OS@OISJCS%‘



27.

28.

NEP —

2020 targets 100% gross enrollment ratio (GER) from

Pre — School to secondary level by the year
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One Kilobyte in computer storage capacity is

1.
2.
3.
4.
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1024 bytes
1124 bytes
1224 bytes
1324 bytes
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According to feedback from Educationists ‘Critical age’ is
1. Pre-adolescence

2. Later childhood

3. Early childhood

4. Infancy
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“The language acquisition Device — LAD” concept related to
1. Bandura

2. Skinner

3. Noam Chomsky

4. Kohlberg
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(PAPER - 1A)
Telugu
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Telugu Methodology Paper-1

PR DO &)00UEFSEIS S°8ea0
L S50 S0 85350

2. Sy BuFso
3. S50 WEH Fyesgo BsFseco

4, 09588 3o ;ssoeg;'c%cso:g) DO DSEPSE0

‘208 o8 edo
%) (]

1. o S

2. 830 S

3. Do %
(qp]

4, ErSmeae &%)

SEKDS® & TR0 mﬁogsoq)é@ oY $0;S0
e SYHg - (F56 SDETE0 TN EniHS08.

1. BOIRS
2. Q@bws
3. Qgﬂwg

4. NOSEN)



58.

59.

60.

DB Srerg08S08° 3Wé &) ST woTed

1.

2.

3.

4.

SIS0, DOVS AT°Te?, @@5&&&&5&50
(es] (o]
msbéo, NSNS K)cgés*a, :50%"2",);53@
B350, TS JooSer, oD SIANNS
(es} (o}

SpSo, Sens Aoeses, 63@5,)353@

D BBIH (FB0L0, FIIR0Y, S0A0Y) &R
o5ETen BOSHLBEATE

1.

2.

KCSZS 553
BSPeS53S
FFOSIS

‘;3655673536

SEH TIE 0FEToS” 30 0SS ©¥e0

1.

2.

TT°O JONE
ST SRS ey
0L S0(&3ed

me'aageﬁ



61.

62.

63.

64.

English Paper - 1A

Malgudi Days written by R.K. Narayan.

Choose the correct verb that fits the blank.

b=

arc
WCEre

was
has

Shut up, can’t you?

In the above sentence the question tag indicates

1
2
3.
4
In direct speech, the part within the quotation marks is called

1
2.
3.
4

impatience
invitation
suggestion

offering

the direct clause
the reporting clause
the reported clause

the indirect clause

Choose the correct statement regarding ‘if clause’.

l.

‘If clause’ can be placed either before or
after the main clause.

‘If clauses’ always end with a question mark.
The condition is not introduced by ‘if’

All “if clauses’ are simple sentences.



65.

66.

67.

68.

I’ll telephone you after I arrive.

In the above sentence, the word ‘after’ is used

1.
2.
3.
4.

to talk about the future
to indicate past tense
to indicate contrary ideas

to express opinion

Choose the sentence in simple past.

1
2
3.
4

You must come to dinner on Friday! Our company manager is

She reads daily.
She read the entire book.
I read the news paper daily.

We read our lessons every day.

going to be there.

In the above sentence ‘must’ is used to express

1
2.
3.
4

reproach
a condition
inferred probability

polite insistence

Observe the following picture.

Now choose the corrCe>ct preposition that fits in the blank.
The circle is the horizontal line.

1. upon

2. under

3. in

4. inside
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70.

71.

72.

If it rains, we will go out.

This is

1
2
3.
4

[ understand your point of view.

a simple sentence
a complex sentence
a compound sentence

a compound complex sentence

with you.

Choose the most suitable linker that fits the blank.

1
2.
3.
4

So that
Consequently

However
Although

Choose the sentence that contains a relative clause.

1
2
3.
4

I lost the key which belonged to Mohan.
I lost the key belonging to Mohan.
I lost the key of Mohan.

Mohan’s key was lost by me.

I was told to go to the railway station.

In the above sentence ‘told’ is used in the sense of

1
2
3.
4

announced
forbade
decided

ordered

I don’t agree
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75.

76.

A long handled spoon used to serve liquids is ......

Choose the word that fits the blank with the opposite of the

1
2.
3.
4

a gruel

a beadle
an oakum
a ladle

word underlined.

Everybody likes to be praised. Nobody likes to be

Peach tress broke out into delicate blossoms in the spring time.

1
2.
3.
4

applauded
hailed
blamed

saluted

The meaning of the phrasal verb ‘broke out’ is

1 emerged suddenly

2. separated

3. stopped suddenly

4 interrupted some thing

Oh! What beautiful picture!

Choose the correct article to complete the sentence above.

1
2.
3.
4

a
an
the

No article is required
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79.

80.

Choose the correct sentence that contains all the given words.

Ll

ran, straight, they, into, crowd, the
Crowd ran the straight into they.
They straight ran into the crowd.
The crowd ran straight into they.
They ran straight into the crowd.

Choose the correctly punctuated sentence.

1
2.
3.
4

He replied, “I am weaving a saree.”
He replied, I am weaving a saree?
He replied! “I am weaving a saree.”

He replied, “I am weaving a saree?”

Choose the most suitable salutation of a letter to the editor.

1
2.
3.
4

Yours sir / Madam,
Mr. Editor,

Sir / Madam,
Dearest Sir / Madam

Choose the word that is monosyllabic.

1
2
3.
4

today
blue
revolt

civil
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82.

&3.

&4.

Choose the correct spelling of the word.

1 procesion

2 procassion
3. processen
4

procession

Choose the suffix that suits to get the adjectival form
of the word ‘marry’.

1. ed

2. 1se

3. able

4, ist

Read the following passage.

Michael Stone’s father, Bert Stone was not a dreamer. He was
a hard—core realist. He believed in hard work and sweat. His
motto: If you want something, work for it.

A motto is

1 a story of hard work and sweat

2 a statement of Michael Stone

3. a dream that consists of our wishes

4 a saying that expresses aims and beliefs of a person

Read the following passage.

Michael Stone’s father, Bert Stone was not a dreamer. He was
a hard—core realist. He believed in hard work and sweat. His
motto: If you want something, work for it.

This passage stresses on
the success story of Michael
the dreams of people

1
2
3. the importance of hard-working nature
4 the life of Michael Stone
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The stage of ‘babbling’ runs from

1
2.
3.
4
Children’s experiences and their views are considered in

1
2
3.
4

0 — 7 months

7 — 12 months
7 — 14 months
7 — 10 months

teacher centred education
child centred learning
tuition centers

teacher trainings

Choose the signal word that indicates comparison.

1
2.
3.
4

for example
similar to
so that

because

In writing, the final element of the introduction is

the closing
the variety
the thesis statement

the providence
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Structural Approach gives importance to
1 letter writing

2 speech

3. review writing

4

writing an invitation letter

Choose content words from the following.
1 nouns
2 prepositions
3. determiners
4

conjunctions
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APTET - Paper- 1 - 2022
Mathematics

Additive identity in whole numbers

1.
2.
3.

1
0
-1

10
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1.
2.
3.

4.

1

Which of the following statement is true

1.
2.
3.
4.

Product of two even numbers is always an even number
The sum of the three odd numbers is an even number
All prime numbers are odd numbers

Prime numbers do not have any factors
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95.

Simplify 5% + 3—

1
12

1 1
5= + 3— %8 15808m
6 " C1p Vad

l.

A plot is 60m long and 40m wide. A path of 3m wide is
constructed around the plot. Then the area of path is (in m®)

2.8 e FEY 60, Sesen) 402. 0008 ey
3 . ko) ered IDY0T2E08. W0 ey Fego (5.2.)

1
2.
3.
4

630
636
714
610

Simplify 100 m — 64 m .45 cm

1.
2.
3.
4.

35m. 55cm
36m . 55cm
35m. 65cm
34m . 55cm

100 20 — 64 s . 4520.2. bré&%o@;ﬁoo

1.

Ll

3520 . 5520.20.
3620 . 55290.20.
3520 . 65250.0.
34 . 55%0.20.



If one angle of triangle is 90° then it is
1. acute angle triangle

2. obtuse angle triangle

3. right angle triangle

4. equilateral triangle

90° 530 JY) (@aer) T (Babeso ©oerd

1. 008 (Ba0
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3. o8 Qb0
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If§A=75%0thhenA:B=

A S %m&: B S° 75% @ond A:B=

1 1:1
2 9:8
3. 8:9
4 10:1

Ifa=3 b=5thena’—b* =
a=3 b=5mond a°—b* =
1 112
2. 114
3. 116
4 118



99.  The circumference of a circle is 66m then its area sq.m.
2.5 S8 908 66 . WONS T JTOFO 25,90

1 346.5
2. 34.65
3. 364.5
4 36.45

100. Square root of 2025
2025 &o0¥), SGJToB0

1 35
2. 25
3. 45
4 55

101. If a water tap can fill a 50 litre tank in 5 hours. The same water
tap can fill 75 litre tank in ___ hours.

2.8 D& Herow 50 é)eog 0G50 Ko 28 &0 5 xoeoesj;
DOAS @93 N Hgrow 75 é?)eag iro:,sogéo Ko I8°K SUNCISAS
QoL _ Kodred DeR.

e
3

2.

4 7t
2



102.

103.

104.

Solution for % x—1= 2

%x—1=% FooE), FES
1. x=1
2. x=3
3 x=5
4 x=17

Solve the equation 2p_p = 112
3 5 3

%p —§ = 11% BDESEI0 FHOS0
1 p=35
2. p=45
3. p=25
4. p=15

The L.C.M. of 16, 24, 30
16, 24, 30 © 5.3.5.

1 120
2. 160
3. 200
4 240



105.

106.

107.

The set of numbers which are in the form of £(where q#0)is
denoted by the letter

(- q#0)&508° &od K05 DB D wEYoE’

2

?_;QP'U
&

.

oW =
£ NO Z

The marked price of a fan is Rs. 1600, discount is 6% then its
sales price is

28 D (PEOS 3o &7, 1600 @550 TP 6%
o SXSOIIY) af)Q«S N e&;ﬁogﬁo J©

1 Rs. 1696
2 Rs. 1504
3. Rs. 1606
4 Rs. 1500

In a triangle, exterior angle is 120° and interior opposite angles
are in the ratio of 1:5 then one of the angle is

2.5 (82008 erimgEer0 120° o) woSoSny Sere
DAY, 15 ©00S wosTdinvy Serod 58

l. 70°
2. 80°
3. 90°
4. 100°



108.

109.

110.

A cuboid whose breadth is half of its length ‘x* and height is
double the length, then its volume (in Cubic units)

BYHS0 @nY), Jeo), FEPY X7 S DKo, B P FEIPH
B30 0B BY WS SHOITE0 (30.0070LS’)

1. x3

2. 2x°
3x°
4, 45>

A person buys an article for Rs. 650 and sold at profit of 6%
then sales price (in rupees)

2.8 ;55_50 &8 S0J) 8. 6500% £ oA 6% [SRTARIIS eaib&c‘é,
eﬁib&me) (B> aes?)

1. 589
2. 689
3. 789
4. 489

If the median of quantities are in ascending order 10, 12, 14,
x—3,x,x+2,251is 15 thenx =

8 TaEDH08° &) oo 10, 12, 14, x— 3, x, x + 2, 25
;53&55Ke§o 15 oS x =

1 15
2. 17
3. 18
4. 19



111. The length and breadth of the tablet are 16cm, 8cm
respectively. It has an inner side black border of lcm width
around the screen. Then the area of the black border is (in cm®)

Egd B, FEY SO Ieojen SHIP 16 0.2,
8 0.0, R BT §°90 1 0.0, e Ko Seod
@O GOB. & S WO Foo¥), T (S700..08°)

1. 44
2. 22
3. 33
4. 121

112. IfA=4x*+)y"—6xy ;B= 3)°+ 12 x>+ 8xy
C = 6x" + 8y” + 6xy then A+B+C
1 —4x* 10 y* - 20xy
2 — 8y* —32x"—30xy
3. 22xF +12%°+ 8y
4 20x* + 5)° + 4xy

113. Iftwo lines in a plane are not intersecting, then the lines are

called

1. Intersecting lines

2. Parallel lines

3. Perpendicular lines

4. Transversal lines

2.5 $008° B0k BPen POSOHESENSE e Bpod gor
0L,

1. POLES Bpew
DS°0e88 Tpew

©0250PeN

WD

@655 Bpew



114.  The number of symmetric lines can be drawn for letter “X”
X" 3 o5oed8 Adhre RS Bpo Bops

1 1
2. 2
3. 3
4. 4

Maths Methodology

115. “A good mathematics textbook is a rich resource of
knowledge” stated by

1 Hall Quest

2. Benjamin Pierce
3 John Dewey

4. Robert Hill

2.5 3000 KedS PEFIHHTO 2078 28 F00D SIW” @

BONSO

L 5]

2. BozdS HHS)
3. ) &go00

4. U°zo§ S



116. Constructivistic teaching model

117.

118.

1.
2.
3.
4.

3R model
4k model
5E model
2P model

REPER IS ST S

l.

ol

3R SSoee
4k SSa°
SE SX07°3e
2P S

Academic standards in the present mathematics are developed
based on the guiding principles of

BAS” (HAFBONS IrYENTO PO (PS Kedd o
(PITeTen EPFoBoTdd

l.

Eall

NEP
CLIP
APSCF
CLAP

The digital device useful to teach mathematics is

1.
2.
3.
4.

Froguts
Zeozebra
Bhuvan
Kahoot

KR35 S5t ERRIANE AReS &NESe0

1.

W N

&Fre
&R e
AN
ESoeeS



119.

120.

This teaching method makes students as an investigator
1. Project method

2 Laboratory method

3. Heuristic method

4 Demonstration method

Be FET HE ITGOY RO STHR008
L B 9ss

Q0 o
BErKTe DS

(]

XS°J°§6‘?0§ P lats]
o 7o

L

(BEENS 55O

Project method is introduced by
1. Stevenson

2. Armstrong

3. Kilpatrick

4. Thorndike

B DEB (3% 258

1. JISIS
2. 3§ &@goﬁ
3. &S>&E

4. @@Qg



APTET - Paper- 1A — 2022
EVS

121. The part of the flower which attracts insects for pollination is

1. Petals

2. Sepals
3. Stamens
4. Pistil

DOPKH0T) 0 55 Sosromn es¥003 WREKo

1. SN NASY
2. SEsSEen
3. 330059

4.  0&8%0

122. Smallpox vaccine is invented by
1. Edward Jenner
2. Louis Pasteur
3. Y. Subba Rao
4. Alexander Fleming
oHr08 S5 SR TGS

1. aczosg 55&5
Q00 b{)g

S sz:gcm‘@

L

B80S DWOoR
2 (92]



123.  Number of guard cells present around stomata of the leaf

1. Four
2. Three
3. Two
4. One

SHS HBTO\TR) S50 &G LY SeTo VoS

1. IO
2 NPouleS)
3. 3o
4 E&

124. The filament in the electric heater is made up of

1. Tungsten

2. Nichrome
3. Magnesium
4. Copper

do|8F 2850658 HeBDoes BIS® SarhBabend &oenod.
1L ©OAYS

2. A8
3. Do
4

5958



125. Intensity of Earthquake is determined with
1. Geometry scale
2. Kelvin scale
3. Richter scale
4. Centigrade scale
BrEOD BSSE™H ITO0I e
L 2d o

EUSIEVECS

856 )y

[55]

L

0BRE

126. ZBNF stands for
ZBNF es 5

1 Zone of Best Natural Food

2 Zero Budget Nutrient Formation
3. Zero Budget Natural Farming

4 Zero Budget National Farming

127.  All over the country Road Safety week is celebrated during
1. First week of December
2. First week of January
3. Second week of March
4. First week of April
8%;"5;3007?" 686% I BSTE0 BEYHE D DSANO

L &028 0583 350
2 23350 Jsed B0
3. 35°0) BOES B0

4 DS IS T



128. Granules present on the surface of rough endoplasmic
reticulum of a cell are

1. Mitochondria

2. Ribosomes
3. Plastids
4. Lysosomes
56908°D KK 0SS (5o &H0S00P &0t TeYo
S083 QTP €T
L D&Ssodose
2. 3B S e
3. rdéew
(qp[N]
4. DI Sow

129. Sperm gets energy from

1. Nucleus

2. Tail

3. Mitochondria
4. Head

HEETIS FEIF[O

1. Soso

2. &%

3. &odosr
4. B 1S}



130. Identify the endangered plant species among following
1. Bamboo
2. Tamarind
3. Bitter guard
4. Rauwolfia serpentina
800 &S° e358° &) o8y, A KHoS0d.

1. Slabled
2. WO

3. 55

4. édoyﬁoéb

131. Number of days that the moon takes to revolve around

the earth

1. 25 days

2. 29 days

3. 28 days

4. 27 days

2P HET SO HOIWoBEI3 :@ &Pereny
1. 25 &Peren

2. 29 &Paren

3. 28 &farern

4, 27 &fereny



132.  One of the following forces is a contact force
1. Gravitational force
2. Magnetic force
3. Force of friction
4. Electrostatic force

208 98° ¥)oe0
1. ?béo@“’5§§m 2200
eaoﬁo@’zroé 200

mgsa 200

L

i 3)65355 200
()



133.

134.

APTET — Paper-1 A — 2022
Social Studies

The term not related to the rocks and water below the ground
level

1. Pervious rocks

2. Aquifer

3. Impervious rocks
4. Mean sea level

208 98° e;isoziq)oé‘s &) 8o, HIE o B

o)

l. 3°C5K;SJ§ oo
2. eﬁéog?pg

3. e&iﬁé?ﬁéﬁog oo

The Sun begins to shine in Tundras in the months of
1. February - March

2. March - April

3. April - May

4 May - June

&0\ | FoBoS® Bs 3@(’3:) RIEEE GE5000SED
BP0,

1. @S0 - X0
578 - ARS
RS - D
2 -

- W N



135. The country, which has the largest number of medical colleges
in the world

1. U.S.A.

2. Australia

3 India

4. England

(990308’ SSIOY Jeg ST &Y) &0
1. A520.0%. .

2. w@@oﬁf

3. LTSS FO

4. 30K0&

136. Nayankara System is related to

1. Rudrama devi
2. Pridhviraj
3. Ashoka

4. Krishnadevaraya
OO SES 208 H020H0NIH

1. BT

2. dyKoe

3. 5%

4. SpPBScecien



137. Find the odd one

138.

139.

1. Presidential system — USA

2. Parliamentary system - India

3. Direct Democracy - China

4. Communist System - USSR

308 IS DYPFS A K030,

1. VY STI ATI0 - O520.0R. .
FT0E ST IS0 - wrESTFO

©SgE Rerdydg0 - B

L

S35y AEE0 - 0. 0. IN.es8.

A group of people with an authority to govern a country
is called

1. Government

2. Monarchy

3. Law

4. Constitution

28 BEQ) SO0 ©HS0 &) SO BIFIo

1. @eﬁoeﬁoso

2. o3850
3. 23830

(]
4, U°8’°§O7§O

The Madras estate bill came into force in the year
ST IR Doy wSed" $D)S SoSSYo

1 1952
2 1953
3. 1950
4 1951



140. The author of the book “Wings of Fire”
1. Om Prakash Valmiki
2. A.P.J. Abdul Kalam
3. [.V. Rama Swamy
4. Pranab Mukharjee
“DoRy e 287 DI Bisones
L 2opss 9)3

2. A.0.B. eaage? Eero
3. 2.9. o°;50©“5;’b
4. @835 ;Saoa)é

141. Languages recognized by the Indian Constitution
PSS O§0rio B Kr00SES grRen

1 23
2 22
3. 25
4 21

142. The Scholar who started ‘Prarthana Samaj’ in Bombay
in 1867 was

1. M.G. Ranade

2. Keshav Chandrasen

3. Swami Dayananda Saraswathi

4. Raja Rama Mohan Roy

1867 ¥05&)508° Fozrond® (YT Bra0’ TRoDSITW

1. 050.8. 855G

2 295 SolSoR

3. ﬁzsib [afosiieln! m%ose‘ié
4 OP2°0°:5 ITEQ 0°0s)



143.

144.

The God who was not worshipped by the “Aryans”

1. Yama

2. Shiva

3. Indra

4. Surya

esthyen (308 D VI3 R0 BEd
1. A30S300Ed

2. B

3. le](atleS

4. 265°63§c‘.§3

MNREGA protect livelihoods of people in rural areas by
providing

1. Medical facilities

2 Educational facilities
3. Employment facilities
4 Electrical facilities

MNREGA 3§50 83 5ogen SOR0SE0 o(oe (v
(EPod (Pae B5S (HIreTen 2oSEIS SPITFo

L 3y Fsogen
2. DTG oD
3. &R FEogeD
4. dgS rsomgen



145.

146.

The process of estimating the events which will occur in future

1.
2.
3.
4.

Prediction
Observation
Classification

Controlling and manipulating variables

PAHS” SEASGo DoPSOD &alrod JH)Eo

1.

L

&rodss0m0e
28BS
58558
N
WO AAO(LBE?

Taking the error free reading while conducting the
experiments is

1.
2.
3.
4.

Valuing
Manipulative
Sensitivity

Naturalisation

(BBren TowR)d d&oro Sasirdon 08 S0es

1.

L

A0S Beao
o



147. “In class room teaching the role of teacher has to be less and
student participation has to be more” opined by

1. Simpson
2. Fletcher and Montessori
3. Briggs

4. John Lock

SEHA KB F°ESSS” &I EPEas0d TS S8 S0, I
TS D) I GOEIBI DT ALDESIT D

1. 2053

2 2556 508050 S0
3 DRy

4 2Q o°§

148. The teaching method popularly used in “Nalanda” University
in India was

1. Demonstration method

2. Discussions method

3. Story telling method

4. Socialized Recitation Method

TBSTFOS'D “$008" IKIT5OeH0S” (PSopor
ENDPAOTRES F°ESS HES

1. é:amgé DEH
[on]

7:501) ZJCQS@

o) :age‘:a

L

5 «
bogﬁo)eﬁ ec;\'ﬁ ag@



149. The teaching aids like Mockups and puppets belong to

150.

l.

2.
3.
4

Display devices
Projection equipment
Three dimensional devices

Graphic teaching aids

58, IO AN 20 B S ST ESeroH 3085

1.

L

@dc@w D88ow
($59es HOSo°eD
B&cs HBETRen
28 S SEIsseToen

According to Dr. Coubin’s analysis chart, the percentage of
memory retained by “seeing”

1.
2.
3

4.

70%
30%
50%
90%

&. §DS I3aes T8 (95780 “SEE0” NS doS S0
©0TR) HPBS” &oHE SN

1
2.
3.
4

70%
30%
50%
90%



